normalized X?

Ratio

< X2/ ndf >

Ratio

< X2/ ndf >

Ratio

B . Lot

0."0

2 4 6 8 10 12 14 16 18 20
X2

[ normalized x? probability |

0.07

0.06

0.05

0.04]

0.03]

0.02

1.05

Ratio

0.95)
0.9

0.10.2030.4050.6 .7 0809 1

Prob(x2)

mmmm= DQM_TT__mkFit-DQM_original-0
s DQM_TT__mkFit-DQM_mod-127
wmm= DQM_TT__mkFit-DQM_mod_updated-127

1.6

R SR S s SN S

i
T T [T T T

1.0

107 1 10 10? pw3
T

< X2/ ndf >
P
00

Ratio

i
T T[T [T [T T I [T TIT T

1072

1 -1
AR(track, jetg)



	Contents
	Page 1


